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Question 1   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

40%

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,515

Correctly answered feedback
2/5x100%=40%

Incorrectly answered feedback
2/5x100%=40%
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

a) What is 12% of 360kg?

Accepted answers:

43.2

43.2kg

43.2 kg

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,813

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

b) Express 17/40 as a percentage.

Accepted answers:

42.5%

42.5 %

42.5

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,817

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

45% of the pupils in a school are girls and the rest are boys. The total number of pupils in the school is
2400. Find the number of boys.

Accepted answers:

1320

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,820

https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037515
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037515&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1816533
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037813
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037813&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1816533
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037817
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816533&question_id=29037817&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1816533


9/20/21, 10:24 PM ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1816533&trk=edittest_inrow_edit 3/10

Correctly answered feedback
100-45=55%

55/100x2400=1320

Incorrectly answered feedback
100-45=55%

55/100x2400=1320

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

The usual price of a pair of running shoes was $140. Ali bough it at a discount of 20%. How much did
Ali pay for the pair of running shoes?

Accepted answers:

112

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,827

Correctly answered feedback
80/100x140=112

Incorrectly answered feedback
80/100x140=112

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Henry has $1560 in a bank account that pays 3% interest at the end of each year. How much money
will Henry have in his bank account at the end of 1 year?

Accepted answers:

1606.80

$1606.80

$ 1606.80

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,834

Correctly answered feedback
3/100x 1560 = 46.80

46.80+1560=1606.80
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Incorrectly answered feedback
3/100x 1560 = 46.80

46.80+1560=1606.80

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

8

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,839

Correctly answered feedback
3/4=12/16

12-4=8

Incorrectly answered feedback
3/4=12/16

12-4=8

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 8   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

A shopkeeper had some rice. 30% of the rice were sold on Monday and the rest of the rice were sold
on Tuesday. If the mass of the rice sold on Tuesday was 24kg more than the mass of rice sold on
Monday. How much rice was sold on Tuesday.

Accepted answers:

42

42kg

42 kg
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Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,850

Correctly answered feedback
70-30=40%
40% of the total = 24

 1% of the total = 24÷40=0.6

70% of the total = 0.6x70=42

Incorrectly answered feedback
70-30=40%
40% of the total = 24

 1% of the total = 24÷40=0.6

70% of the total = 0.6x70=42

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

A baker sold 640 tarts. 35 % of them were mango tarts and the rest were kiwi tarts. How many kiwi did
the baker sell?

Accepted answers:

416

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,855

Correctly answered feedback
100-35=65%

65/100x640=416

Incorrectly answered feedback
100-35=65%

65/100x640=416

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 10   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

The price of a refrigerator before GST was $4390. What was the price of the refrigerator inclusive of
7% GST?

Accepted answers:

4697.30

$4697.30

$ 4697.30
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Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,861

Correctly answered feedback
7/100x4390=307.30

307.30+4390=4697.30

Incorrectly answered feedback
7/100x4390=307.30

307.30+4390=4697.30

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

21.60

$21.60

$ 21.60

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,864

Correctly answered feedback
124+24=144


15/100x144=21.60

Incorrectly answered feedback
124+24=144


15/100x144=21.60

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Q ti 12
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Question 12   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

1026

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,866

Correctly answered feedback
45x30 = 1350

76/100x1350=1026

Incorrectly answered feedback
45x30 = 1350

76/100x1350=1026

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 13   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt
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A) Apples 

B) Oranges 

C) Pears 

D) Grapes 

E) Kiwi 

Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,872

Correctly answered feedback
100-350+200+550+400=1600 37.5/100 x 1600 = 600

Incorrectly answered feedback
100-350+200+550+400=1600 37.5/100 x 1600 = 600

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Ali had some red and white toy cars in his collection. 52% of his toy cars were red. He decided to give
away 45 of his toy cars. 


1) Ali has more red toys than white toy cars in his collection at first.

A) True 

B) False 

C) Not possible to tell
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,885

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 15   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

2) Ali gave away more red toy cars than white toy cars 

A) True 

B) False 

C) Not possible to tell

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,888

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 16   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

29%

29 %

29

Question Type: Free Text
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,892

Correctly answered feedback
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210+85=295

85/295x100~29

Incorrectly answered feedback
210+85=295

85/295x100~29

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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